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Instructions
Answer all questions.
Answer questions on separate paper if required.

/

Information and Advice
The marks for each question are shown in brackets — use this as a
guide on how long to spend on each question.
Read each question carefully before you answer it.
Check your answers.



Q1 ‘Feild’, ‘Deciet’ ‘Teir'.
These words are all spelt incorrectly.
Which spelling rule has not been followed correctly here?
[1 mark]
Q2 ‘Climb’, ‘Sandwich’ and ‘Queue’ all contain which type of letter?
a) Double letters
b) Silent letters
c) lIrregular spacing
[1 mark]
Q3 ‘Thankyou’ and ‘aswell’ are spelt incorrectly. This is because of the .......... rule.
Fill in the blank by selecting the correct option below.
a) lIrregular spacing
b) Double letters
c) |before E except after C
d) Silent letters
[1 mark]
Q4 ‘I'm trying not to be worried for my interveiw tommorrow, but | can’t help it. | think |
have preparred everything correctly, but | need to rememmber to bring a copy of my
Cv’
How many words are spelt incorrectly in the paragraph above?
[1 mark]
Q5 Look again at your answer to Question 4.
Which two spelling rules have been ignored in the first two incorrect spellings?
[2 marks]
Q6 Select an example of a specialist word from the options below.
a) Empty
b) Car
c) Field
d) Lowlights
[1 mark]
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Q7 ‘The bins are going to be re-collected this week.’
The hyphen in this sentence is used correctly.

True or false?

[1 mark]

Q8 'Bhati drives a semi-automatic car.’
The hyphen in this sentence is used correctly.

True or false?

[1 mark]

Q9 Rewrite the words ‘sheep’, ‘fish’ and ‘desk’ in their correct plural forms.

[3 marks]

Q10 ‘un-’, ‘semi-’ and ‘de-’ are examples of which of the following options?

Suffixes
Prefixes
Homophones
Plurals

o088

[1 mark]
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